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H avicoo ot (x—1)(x*—4x+12) <0 < x < 1.
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f(x)=In(x+a—p), x >—atp. @

A. a) ln6+f(§)—1 %‘lﬁn&%ﬂn(nga—B)—lnS:lnn@
ln(§+a—é\%§&a5+lnn—ln6<:>ln(§+a—B)zln5?n<:>%+a—B:5?n<:>

T T T 1 1 @
f(=)=8nu——8nu’—=8-—-8(=)’ =4-1=
7 ) =88 5~ 8C) &

, f(%) etvar Olad0ykol 6pot

T
- —<a-pf=—.
P 2 P 3

T s
B) @}?hﬁx+§g,x>_§

1
%u(ef(x))cuv(ef(x)) =5 2nu(e®)oovv(e™) =1

nu(2e'™) =1
K
2

Q 1n(x+g) T 2n
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Temkd x =xn——,ke {0,1,2,..} Q
(H pn ypmowomoinon Tov TEAELTOUOL TEPLOPIGLOV, TEpOTSl vo. pn
BewpnBel AaBog.)
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f(x)=Inx,x>0
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